
Handout 5:  Limericks 

What is a limerick? 

A limerick consists of a five-line stanza with, in all, 13 stresses. The first two lines constitute 

a rhyming couplet with three stresses in each of its lines. The two lines which follow it are 

also a rhyming couplet but with only two stresses in each. The final clinching line matches 

the first in number of stresses and also rhymes with it. The rhyme scheme is thus aa bb a.  

Where did limericks come from? 

The limerick is Irish in origin, although it was first made widely popular as a poetic form by 

Edward Lear (1812 – 1888) in his Book of Nonsense (1845).  Here is an example from the 

book: 

 

There was an Old Man in a tree, 

Who was horribly bored by a Bee; 

When they said, "Does it buzz?«  

 he replied, "Yes, it does! 

It's a regular brute of a Bee."  

 

What are they useful for in the English classroom? 

They are particularly useful for pronunciation as there are so many rhymes, often with 

words that have different graphemes e.g. buzz – does.  This helps students to develop their 

awareness of the complex sound-writing links in English.  They can also be creatively 

exploited for a variety of grammar points (tenses, phrasal verbs etc.).  They can also be used 

as a stimulus for creative writing, as the limerick offers is a relatively straightforward model 

to follow.   

Model 

There was…..from… 

Who……(final word rhymes with end of line 1) 

………. 

……… (final words in lines 3 & 4 rhyme) 

……… (final word rhymes with lines 1 & 2) 

 

 Your attempt here ! 

 

 

 

 

 

 

 


